HEPER Pazarlama A.S.

Baskent OSB 22. Cd.
No: 2, Malikdy, Temelli,
Sincan, 06909

heper”

Ankara, Turkiye

Tel: +90 312 267 54 30
Fax : +90 312 267 54 31
info@hepergroup.com
www.heperlighting.com

URBAN UNITS Street Lighting Module

Installation&Maintenance Instructions
Montaj&Bakim Kilavuzu

2020-0/04.09.2020

< e
= = )
ape BIN Ik

3xM8 Nuts

3xM8 Nuts

Urban Units Pole

Urban Units Module

4xM4 Socket Head Bolts

q A




2xM6 Countersunk Bolts

4xM5 Socket Head Bolts

e %

4xM5 Round Head Bolts

(] © (] (<]
(] () () (<)
o) ]
— ) [ 9

A A

/
.

)
J

©

]

(N
,

AGIRLIK
WEIGHT

A
(mm/inch) | (mm/inch) | Ty oney

$200 mm
77/8"

400mm | 619k
15 3/4" 13 41/64b

VERSIYON
VERSION

UST KAPAKLI

WITH TOP COVER

ARMATUR KODU
LUMINAIRE CODE

LP4053.514

$200 mm

7 7/8"

396 mm 5.51kg
1519/32" | 129/64lb

UST KAPAKSIZ

WITHOUT TOP

COVER

LP4053.514

MONTAJ TALIMATLARI
Modiilii diregin tepesine montaj yapmak igin;

1. Moddulin yerine yerlestiriimesi igin;

1.1. Direkten gelen kablo ile modilden ¢ikan kablo soket yardimiyla birlestirilir.

1.2. Modulin montajini saglayan setskur civatalar, direk tizerinde montajli bulunan baglanti
parcasindaki slotlari karsilayacak sekilde, parcanin tzerine yerlestirilir.

2. Modilin montajinin yapilmasi igin;

2.1. Modilin agisal olarak konumu ayarlanir.
Not 1: Modulin donis kabiliyetini gosteren resim dikkate alinmaldir. 45° Gzeri agilarda
donis yapilabilmesi igin modul yerinden kaldirilir ve modilin montajini saglayan setskur
civatalar acisal olarak uygun slotlari kargilayacak sekilde yerlestirilir.
Not 2: Modulin agisi agisal konumu ayarlanirken soketle birlestirilen kablolarin zarar
gérmemesine dikkat edilmeli gerekirse agisal konum ayarlandiktan sonra birlesim
yapiimalidir.

2.2. Modiiliin agisal konumu ayarlandiktan sonra somunlar 15 Nm tork ile
yerlerine sikilir ( 3 Adet, M8 Somun ).

3.  Gizleme kelepgesinin montaji igin;

3.1. Kelepgeler yerlerine sekilde gosterildigi gibi yerlestirilir.
Not: HEPER logosunun modiiliin pleksi pargasini ortaladigindan emin olunuz.

3.2. Kelepgeleri birbirine sabitlemeye yarayan civatalar 1 Nm tork ile yerlerine sikilir ( 4 Adet, M4
imbus Civata )

Modiilii bagka bir modiiliin tepesine montaj yapmak igin;

4. Modulin yerine yerlestiriimesi igin;

4.1. Alttaki modulden gelen kablo ile montaj yapilacak olan modulden ¢ikan kablo soket
yardimiyla birlestirilir.

4.2. Modulin montajini saglayan setskur civatalar, alttaki modil Gzerinde montajli bulunan
baglanti pargasindaki slotlari karsilayacak sekilde, parganin tzerine yerlestirilir.

5. Modulin montajinin yapilmasi igin;

5.1. Modilin agisal olarak konumu ayarlanir.
Not 1: Modulin donis kabiliyetini gosteren resim dikkate alinmalidir. 45° {izeri agilarda
dénus yapilabilmesi icin modul yerinden kaldirilir ve moduliin montajini saglayan setskur
civatalar agisal olarak uygun slotlari kargilayacak sekilde yerlestirilir.
Not 2: Modulin agisi agisal konumu ayarlanirken soketle birlestirilen kablolarin zarar
gormemesine dikkat edilmeli gerekirse agisal konum ayarlandiktan sonra birlesim
yapitimaldir.

5.2. Modiiliin agisal konumu ayarlandiktan sonra somunlar 15 Nm tork ile
yerlerine sikilir ( 3 Adet, M8 Somun ).

6. Gizleme kelepgesinin montaji igin;

6.1. Kelepceler yerlerine sekilde gosterildigi gibi yerlestirilir.
Not: HEPER logosunun modiiliin pleksi pargasini ortaladigindan emin olunuz.

6.2. Kelepgeleri birbirine sabitlemeye yarayan civatalar 1 Nm tork ile yerlerine sikilir ( 4 Adet, M4
imbus Civata )

7. Montajl yapilan moddl en st modul ise, Ust kapagi montaj yapmak icin;

7.1. Ust kapak yerine yerlestirilir.

7.2. Ust kapagin yerine oturdugundan emin olduktan sonra havsa bagli imbus civatalar 1 Nm
tork ile yerlerine sikilir ( 2 Adet, M6 Havsa Bagli imbus Civata ).

Armatiiriin LED siiriiciisiinii degistirmek igin;

8. Modulun pleksisinin sékulmesi igin;

8.1. Modiiliin pleksisini tutan civatalar sékiilir ( 4 Adet, M5 imbus Cvata ) .
Not 1: Civatalar gevsetilirken pleksinin zarar gérmemesine dikkat edilmelidir.
Not 2: LED sirtict degisimi tamamlandiktan sonra pleksiyi yerine montaj yaparken civatalar
2 Nm tork ile yerlerine sikilmalidir ve pleksinin zarar gérmemesine dikkat edilmelidir.

8.2. Pleksi yerinden dikkatlice alinir.

9. Gizleme sacinin sokullmesi igin;

9.1. Gizleme sacini tutan civatalar sokiiliir (4 Adet, M5 Bombe Basli imbus Civata ) .
Not 1: Civatalar gevsetilirken gizleme sacinin zarar gérmemesine dikkat edilmelidir.
Not 2: LED slrtict degisimi tamamlandiktan sonra gizleme sacini yerine montaj yaparken
civatalar 1,5 Nm tork ile yerlerine sikilmalidir ve gizleme sacinin zarar gérmemesine dikkat
edilmelidir.

9.2. Gizleme saci yerinden dikkatlice alinir.

10. LED siricu uzerinde montajli olan kablolar yerlerinden sokulur.
Not: LED suricu degisimi tamamlandiktan sonra, kablolarin yeni LED surticuye dogru
sekilde montaj yapildigindan emin olunuz.

11. LED slricuUnun yerinden ¢ikarilmasi igin;

11.1.LED siriclyd tutan civatalar sokulir ( 2 Adet, M4 Yildiz Silindir Bagli Civata ).
Not 1: Civatalar soékultrken LED siricinin dismemesine dikkat edilmelidir.
Not 2: Yeni LED suriicuyu yerine montaj yaparken civatalar 1,5 Nm tork ile yerlerine
sikilmalidir.

11.2.LED stricu dikkatlice yerinden alinir.



KURULUM VE BAKIM iGiN UYARILAR

Giivenlik Uyarilari A

Bu armaturdeki 1sik kaynagi sadece uretici, Ureticinin yetkili servisi ya da kalifiye bir
teknisyen tarafindan degistirilebilir.

Kurulum, bakim ve tamir igslemleri sirasinda her zaman gug¢ kapatiimalidir.

Eger kurulumdan sonra baska biri tarafindan degisim ya da tamir islemleri yapilirsa bu
Ureticiden ziyade bu islemleri yapan kisi sorumlulugu altindadir.

Sakatlanma, elektrik garpmasi, yangin kazasi, disebilecek parcgalardan olusacak kazalarda
6lim riskini azaltmak igin kurulumdan 6nce bu kilavuza riayet edilmelidir.

Kurulum sirasinda/sonrasinda Uriinln lzerine baski yapilmasi halinde garanti kapsami disin
da kalacaktir.

Kurulum x

LED urinleri yiksek kalite elektronik pargalardir. Lutfen kurulum sirasinda dikkatli ve yavas
bir sekilde islemleri tamamlayin.

Onemli A

Guvenli kurulum igin 6nce armatir igindeki haznenin diizgun yerlestirildiginden emin olun.
Temizlik ve Bakim

Armatlri dizenli olarak solventsiz malzemeler ile temizleyin. Temizleme sirasinda yiksek
basingli sivilarla islem yapmamaya 6zen gosterin.

LED Modiillerin Degistirilmesi

LED modul gésterimi armatirin etiketinde not olarak dusulmustur.
Isik rengi ve 1sik ¢ikisi HEPER modiillerine aittir. Bagka bir moddl kullanildijinda istenilen
degerler elde edilemeyebilir. Degisim standart ekipmanlarla yapilabilir.

Elektrigi kesin.

ArmaturQ agin.

LED modiile erisim igin verilen talimatlari okuyun.
Armatlri kapatin.

ASSEMBLY INSTRUCTIONS

To mount the module on the top of the pole;

1. To place the module;

1.1. The cable coming from the pole and the cable coming out of the module are combined with
the help of a socket.

1.2. Setscrew bolts, which provide the assembly of the module, are placed on the part to meet
the slots in the connection part mounted on the pole.

2. For the assembly of the module;

2.1.The angular position of the module is adjusted.

Note 1: The picture showing the rotation ability of the module should be taken into
consideration. The module is lifted from its place to enable rotation at angles over 45 ° and the
setscrew bolts that allow the assembly of the module are placed angularly to meet the
appropriate slots.

Note 2: While adjusting the angular position of the module, care should be taken not to
damage the cables connected with the socket, if necessary, the connection should be made after
the angular position is adjusted.
2.2.After the angular position of the module is adjusted, the nuts are tightened with a torque of
15 Nm (3 pieces of M8 Nuts).

3. For mounting the clamp;
3.1. The clamps are placed in their places as shown in the figure.

Note: Make sure that the HEPER logo is centered on the plexi part of the module.

3.2. The bolts that are used to fix the clamps together are tightened with a torque of 1 Nm (4
pieces, M4 Imbus Bolts)

To mount the module on top of another module;

4. To place the module in its place;

4.1. The cable coming from the module below and the cable coming out of the module to be
assembled are connected with the help of a socket.

4.2. The setscrew bolts, which provide the assembly of the module, are placed on the part to
meet the slots in the connection part mounted on the module below.

5. To make the assembly of the module

5.1. The angular position of the module is adjusted.

Note 1: The picture showing the rotation ability of the module should be taken into
consideration. The module is lifted from its place to enable rotation at angles over 45 ° and the
setscrew bolts that allow the assembly of the module are placed angularly to meet the
appropriate slots.

Note 2: While adjusting the angular position of the module, care should be taken not to
damage the cables connected with the socket, if necessary, the connection should be made after
the angular position is adjusted.

5.2. After the angular position of the module is adjusted, the nuts are tightened with a torque of
4 Nm (3 pieces of M8 Nuts).
6. For mounting the clamp;

6.1. The clamps are placed in their places as shown in the figure.
Note: Make sure that the HEPER logo is centered on the plexi part of the module.
6.2. The bolts that are used to fix the clamps together are tightened with a torque of 1 Nm (4
pieces, M4 Imbus Bolts)
7. The case which the assembled module is the top module, for mounting the top cover; 7.1.
The top cover is placed in place.
7.2. After making sure that the top cover is in place, the countersunk head bolts are tightened
with a torque of 1 Nm (2 pieces, M6 Countersunk Head Imbus Bolts).
To change the LED driver of the luminaire;
8.For removing the plexi of the module;
8.1. The bolts holding the plexi of the module are removed (4 pieces, M5 imbus Bolt).
Note 1: While loosening the bolts, care should be taken not to damage the plexi.
Note 2: After the LED driver replacement is completed, the bolts should be tightened with 2 Nm
torque while mounting the plexi to its place and care should be taken not to damage the plexi.
8.2. Plexi is removed carefully.
9. To remove the cover plate;
9.1. The bolts holding the hiding sheet are removed (4 pieces, M5 Round Head Imbus Bolt).
Note 1: While loosening the bolts, care must be taken not to damage the hiding sheet.
Note 2: After the replacement of the LED driver is completed, the bolts should be
tightened with a torque of 1.5 Nm while mounting the hiding sheet to its place, and care should
be taken not to damage the hiding sheet.
9.2. The hiding plate is carefully removed.
10. The cables mounted on the LED driver are removed from their places.
Note: After the LED driver replacement is complete, make sure the cables are
correctly installed in the new LED driver.
11. To remove the LED driver;
11.1. The bolts holding the LED driver are removed (2 pieces, M4 Star Cylinder Head Bolt).
Note 1: When removing the bolts, care should be taken not to drop the LED driver.
Note 2: While mounting the new LED driver to its place, the bolts should be tightened
with 1.5 Nm torque.
11.2. The LED driver is carefully removed.

WARNINGS AND REMARKS FOR INSTALLATION AND
MAINTENANCE

Safety Instructions A

e  The light source contained in this luminaire shall only be replaced by the manufacturer or his
service agent or a similar qualified person. Always switch off the power prior to installation,
maintenance or repair activities.

e  The manufacturer is then discharged from liability when damage is caused by improper use or

installation.

« If any luminaire is subsequently modified, the persons responsible for the modification shall be
considered as manufacturer.

« Toreduce the risk of death, personal injury or property damage from fire, electric shock, falling
parts, cuts, abrasions and other hazards, please read all warnings and instructions included
with the luminaire, on the luminaire’s packaging and affixed to the luminaire itself..

Installation x
« LEDs are high-quality electronic components! Please avoid contacting the light output opening

of the LED directly during installation or relamping.
IMPORTANTA\
« To ensure secure connection, the luminaire housing must be positioned precisely in relation to
the mounting plate.
Cleaning And Maintenance

. Clean luminaire regularly with solvent-free cleaners from dirt. Please do not clean the
luminaire with using high-pressure liquids.

Replacing the LED module

e  The designation of the LED module is noted on a label in the luminaire.

e  The light colour and light output of HEPER replacement modules correspond to those of
the modules originally fitted. The module can be replaced by qualified persons using
standard tools.

. Disconnect the electrical installation.

e  Open the luminaire.

. Please follow the installation instructions for the LED module.

e  Close the luminaire.

CLASS | C ’

CLASS II C

\D

Cable Details

67 mm

<25 mm

PG11: 5+10mm
PG13,5: 6=12mm(for DAL

4
B
C
D

=2.5mmq

\D




	Boş Sayfa



